PROFESSIONAL EXAMINATION

BOARD
B Police Recruitment Test for Subedar
rebemminqtion and Sub-Inspector Cadre
ooard Recruitment Test for Police (Home)

Department - 2017
27thOct 2017 02:00PM

Topic:- General Hindi

1) ST A PR & $g T 5:
1. @@, Tuityd & 3R

2. '@y, Tuityg deamd 3R for |
3. @y, Tquityd s 3R for |
4, @, =Ry SR fafesan |
Correct Answer :-

2) 3&RT YFAPT BT YHTI HE1 4 Tl 82
1. IR

2. 3RT

3. YIgTd

4, HTIG!

Correct Answer :-

3) FrgPIe’ TRUING eg fory aafaq AW A TT 82
1. $P9 drgHTe
2. SldcR SigdIC
3. T6iG IDIC

4. AR SigHIC



Correct Answer :-

- eI Car

5) AR STUPR BT ISTEI &:
1. 3TaR YgC | gal I6! ARTIC I ANRY|
2. g w g g fag &
3. S §RIS oY I ,dTe! &1 I |
Al Yl Hig BifeT @I T8 U G| |
4. Afg w1 Al TR 1Y A fdw 3fg Prall
3{cHt et g1 i faedt o ®IF gard ||

Correct Answer :-
« € R S AR 7Y e fawr 3f8 P
3fcHt el g1 i faedt o ®IF gard ||

6) “3MU&T BT fIeiy g IAT3TI

1. 30&7

2. GHiG

3. TR

4. 3UAY

Correct Answer :-

o JU&T

7) BS HID o T T, ATGHT ARSI



T @Y IR S, 97 UT¢ SRR
SWRIT HYF A B AT JAPR 22
1. JAH

2. 3ffcrRrifad

3. 98

4. A9

Correct Answer :-

8) IANDT 3R Ia] HINAT H IR Ulaeist 3R S $T 3NT HSH @1 7, ¢ 8
SURIT a1 | AT GETa¥ BT YR Be |

1. YT fr g Fxac ool

2. 3120t frd Fvae ol

3. fafean f5g wave 9o

4. 3¢ g Hae Jadl

Correct Answer :-

. 3¢ frg Fae 93al
9) 39N q Y TH BT ISTeXVN HI4 T 8
1. T Ied urad Bq g9 U 9ia o W Rrem |
2. IR qH 9¢ Tal, IR 0 9¢ I |
HA UgTS Bl b Rig &1 agre &l
I B! B! T, TH I el T 1|
3. AT o Hd R 96 JHYAT,
rol el Ugg e, ger +R Srem |
HeT HR T, IRT H HRT T,
-} Raer gop A R A
4. O fadHd 9 Aafg T
fSINERE Rl
Hfg fady 3 UDHRII |
aRfg 4t 77 IR IRT1 |



Correct Answer :-
. T HE R 9S UHT,
1ol el U e, gel 4R Sfrem|
HeT UR TS, IFT H HRT T,
IR-¢R g b A IR Y|
10) I & 34T §:
1. R Yrg, fauTa, s HTa, SaRT UTd
2. RITY Y19, fqUTd, SHFT,HART HIa
3. I HTa, faUTT, ST JRT HTd
4. ST UTd,faUTd, 3FIHTE, FaRT HId
Correct Answer :-

o YT HIG,faHTd, 3 HTT, FaRT HTa

11) 3fTeiad faura:

1. a1 TeRT 1 3Teie = Ureh) IRl Ui SN g1 8, 39 Side fauTa H8d & |
2. FoTeT TERT a1 3Tdie UIdh Rl I gu 8T &, 3 3fda faqTd Hgd g |

3. foreT TERT AT 3iTcia UTehx R UG SIF]d BidT 8, 39 S&1U- [aHTd Hed g |
4. ToTIeT TERT AT 3MTa YT R HIF S Bidl 8, 39 3HTeie f[aHTd Fed gl

Correct Answer :-

. TORIehT ERT AT SHTda UTehx R HTd S 1T §, 39 3fdia f[aHTd &gd ¢ |
12) % &1 814

1. 3ARTAcC

2. THARY

3. 3R1ad

4. Qad

Correct Answer :-

13) Y BT 9 ddT4:



“H ¥ 9 PTG BT Yda|

oM e faafy o 59 §, TRe &% @ 39T 1«
1. AT X

2. Y™

3. 3GHA W

4. YT X4

Correct Answer :-

. YA

14) U & Vg B

1. Y U, T seyes Jam, fgareff gam
2. FHYRY FHN, f§7] G0N, TgeY JHN

3. HUYRY U, Ty A THN, TgoY THN

4, T Sy gam, fgerlf gom, Igsiife aam

Correct Answer :-
15) 9g SR ag &1 31 3:
1. THAY 3R RIS
2. 92T 3R 98
3. B 3R SHfAF
4. AP 3R T

Correct Answer :-

. IARF 3R GIay

Correct Answer :-



17) &YUr & 0T §:

1. 3quidT, FadT, HTST St aRerd
2. Ui, Tf&d, HTNT BT TRera
3. 37U, faRdR, TS &1 TRad
4. QUId, W&, HTST 1 IRaTar

Correct Answer :-

. quidT, Sf&redr, YT &1 IRaar

18) T T Hiddl BT M d 31 &:

1. HTHTED IG1 I B B P, ol Sl Bt gaarstt § fafdad sidh It g
2. HTHTHS 1 1 Hid B Hia, St He1al & fafad afdfa &t St ]

3. HIATHS Y1 TN AGH B i, ol Sl bt st § fafdad ieh It |
4. TR Ja1 A1 D Bl Pidl, Sl B-al b gaansii # faferad sieh St 5l

Correct Answer :-

. HIATAD 91 AT A BT Pid, S B DI yaansii § fafdaq aisf ot 31

19) 3rqef-_safr &7 3 §:
1. 3faeft HTwT - THg e

2. 39y H Tg ITel 3R Rrgp1 Iy 7 81
3. 3@y | T gl 3R Jeel
4. 3y H Tg ara 3R gHy A

Correct Answer :-

o Sfadt YT - FHg e

20) ‘PR foa &7 FT ABI T g2

1. IR AT, geads 3R s & § A g |
2. HSTT, IRIGT, §eards iR a1 &t #f defa §1
3. HSQN, HTerdT, FRWUS 3R TS &= & o fira 81
4. A, Ao, §eads 3R fFare &3 § asa gl




Correct Answer :-

. TSo, ATad], §eeRds 3R s & H et B
21) <3re1 ot w82

1. Hikge &1 |

2. ftheH &1 A |

3. AR U3 &7 M|

4. i¥ep] &1 A4 |

Correct Answer :-

. UEHT HTAHI

22) § YOy 9§ g1 V3 &
L. TS
2. g
3.Uga
4. Ulels

Correct Answer :-

23) TYT AT B 1° BT oy I &
1. T TR S T e B

2. Arad) g3 T AT A B

3. MUTAE HRIA G |

4. Sl AEALTN &, IE AU

Correct Answer :-

. \_rﬁ:ﬁl?ﬂ:Tﬂ?ﬁ%,agﬂw%l

24) foa 99 <ften afed s1f Mae sifor 71
T ST T I T J SRR A1

THH T B P19 Farg|

1. Mfdp1 =<



2. RAB<I

3. ghfifast =< |
4. A<

Correct Answer :-

.« JAT B

25) ‘TSP T, G NS 3R TH IH) AGH A TR I} 31’ 39 a1 &1 Fx =0 o |
1. T Y 3R &1 91 3R T ST A H IR Q3

2. T Y, & 91T 3R T bl HgH A IR @ 5|

3. U 7T, 1 19 3R Ud gdh<] HaH & TR @1 ¢

4. U T, G OIS 3R U <) HgH H IR G ¢

Correct Answer :-

.« U T, 3 9IS 3R U 9% A H TR I g

26) ‘ATTH’ TIRHINS e BT Y 7:

1. WHR Y Grd fhal TR0 GRT TGS P S aTeit AR 3B Hgardii|
2. RHR Y G fordd! i gRT I b1 S aTelt AR “SADR HEardi |
3. RDHR I U fordl TR gRT 9GS 1 S dTell AR DR Hgargi |

4. Tl ATHRT SUTT TR BT 3’ TR WBR &b ol [AHRT §RT I fbT §H a1t ‘o & ferw
RIS Ve YA ol STTelm B |

Correct Answer :-

. 3 e Sruar TR HT <3 R IRBR & oG (AU §RT aGd [hT S ared “HR o forg
ST’ VG TRANT b1 ST g |

27) T YTH 9159 TR 59 Yarar o1 31 B
1. 3BT ¥ R EIR 7

2. SBI-§RT Feh! Th FHIT

3. 9gd Il gl

4. 9gd A T

Correct Answer :-

. ISR D! b TS



28) WA MY dge N MR TgaARTgU WA, g4 Pgdd_ @I
SR qTHRI | Tl GeTa¥ BT TR BR |

1. 3G & 38, A9 gD

2. U1 STl 3O AT

3. 3T & 3T [ferdl & g

4. SR TR AT I

Correct Answer :-

. 3MH & TH ool & aH

29) “HdHs’ BT RIS f4UE 2
1. 93 Sl

2. g1d I BT JHER

3. fogR & gle

4. TG TH QS

Correct Answer :-

. 1T N BT IAER

30) I AT BT BT AY §:
1. GRITHE, HRAT

2. T UG

3. Il AT

4. 3UAT HTH FBTAT

Correct Answer :-

o 3(OAT HTH BT

31) <3SAP | B AT TIN 22
1. TYSY U

2. FHYRY THNY

3. 5 9HIY

4. fg gumg

Correct Answer :-



32) ‘GH IR EW T34 §:
1. IS R el

2. U8 3R U

3. UG 3R @l

4. U 3R UgTS

Correct Answer :-

33) <3P 3R AP P 34 &:
1. $d I 3R iR

2. $A 8 3R AP
3. 3IHd 3R G

4. 3 AR P H AT 3

Correct Answer :-
. DA AR AHA
34) 3@ ITH A T U5 &
1. 3fcTerl
2. PR
3. SRIGU
4. S

Correct Answer :-

35) B M Pt HART PIIQTE I’ 59 a1 T IS 7 G |
1. BT IR W@E|

2. T A &7 31 HRIET§ |

3. ARSI SR IR WE

4, § HIRA IRIGI§ |



Correct Answer :-
o T BT 3T BT
36) X UeT-feran 3R SRR §9T T W 9194 B:
1. YO A UGT 3T SHfUHRY &1
2. YXST A UGTS P a9 a8 HTYBRT 11
3. YR Ug-fergan fABRT & 1|
4. IS UgI-forar i RI & |

Correct Answer :-

« IR g-feradhr iRy a1

37) ot PO F D! A0 &1’ 3 I FT Y5 ©U Q|
1. 4 W1 BT T AH B |

2. N HOl F ! AT

3. N HU & 3FG AH G|

4. T HUFH B! A |

Correct Answer :-

. PO P 3D AHE |

38) “3MIR’ H1 faeliy 21 &:
1. 3FAR

2. 3FTER

3. e

4, faarR

Correct Answer :-

39) ‘dred fARd € #R AT T &1 IYa AT @
1. 916 fR R AR &= @

2. TeR STed, AR A1 &

3. 9Id STae feR dd AR e




4. AR T T STed fora 8

Correct Answer :-

. STad foR 3R HR A/ T

40) SNl ISP AV Bid €, 3 Uy B € 1’ ST 919 B I 919 A gcal |
1. S ASP 8ld 7, 3 uRew B Bl

2. IRyt Bt & O TS S B &

3. 3= e R g B

4. 3= TSP Bl 8, 4 URSH B G|

Correct Answer :-

. 3D TSP UReH A B

41) Hifsa fau=h FTUPRA FEIA TR 2
1. HIUTeT: Heg U&=

2. HITTd — IR U

3. A Uew

4. TR FE YT

Correct Answer :-

o HIOTe A U™

42) TRATA IIAT AHS A AR U {59 &7 7 o fore wiraw & 7 Siran 82
1. HaTS &F H AR & HIGH & SR SRYAT SRar e TE- AR R 7 STl 8|
2. AT & H el & AT & SR SR aRar 19 T SHAR R 71 STl 5 |

3. Tl &3 B Y & A9 & SR ‘SR aRd ATHE TMa SHaR UR T ST 8 |
4. TITCTAT & § T 3 TIH & SR SR SRa ATHe T AR UR -1 §Id 6|

Correct Answer :-

. HIEAT & H A & HIH & SR “SRAT SRl A1 M STHAR TR T ST g |
43) 9 Pt GRYTT 3:

1. BT B 3/ AT G o 3ie BT 3yfd 1t B, SY W Fgd B

2. BT Pl Ug 1 G A o 3T Bt 3rgHfa Bt §, S T Hed B




3. TR 1 U AT A 1 o1 e BT 3rgyfd gl 8, S T had 5|
4. T B 3T 1 o B RO o 1t 3y B B, SY T ped

Correct Answer :-

. P B! U AT 3 o 3 3T 3Yfd 81t B, SY W Fgd B

44) ga iR ga w1 AL §:
1. Ayet iR B_T

2. gar 3R =Y

3. il SR SUar

4, IUA 3R BRI

Correct Answer :-

.« JUAN SR U

45) 39 UL ) &4 | U 3R i fAT 71 yxq #13wR 3

o=t w=T Hia foran & oA &1 St St &)
S Plel & UY W AT, Tl T TSR S Bl |
TI-FIABR 5P AW AHR, o= i § afer g
3 a1 UR JRBTHT, 3NRY & H P uR AT
forea e Wi R 3, Wide g ieR St 311~

UY: S BT BT SUYad Y@ diford?
1. T

2. ®ic

3. S &1 ol

4. TABR

Correct Answer :-

. S & Bl

46) 3T UL ) A | U 3R - faT 71¢ yxq #1 3wR 3



o a1 Wk foran 3 S &1 siftrer 3¢t &1 |
St il & UY W AT, Tl BT SUSR It B |
TI-FIABR 5P AR AHR, e iar g afer g |
3t FiaT R GXHHT, 3R F HB W AT |

o e dRa foran g, He § ioR St &7 |

WY: YPHe ER HE a4 1Al 52

1. BV ¥ gUA-8Hd dS D! HdT IR A1 IR The § 91d g |

2. HF B FeId-SAd g B! Bl Uia o IR Aahe ff AR 99 971 ¢ |
3. B B §UA-5Ud T8 B Hll UG A TR Tabve 1 WBR &7 A1 8|
4. HI I gUI-3Ud Tg I BT UG 7 W AR Hf Yebe &7 910 5|

Correct Answer :-

. BV DI TYA-gTd g B! HoAT TG o1 WR Tbe HI AR ST 9d B |

47) SH UG & A A U R A RE My F13"R &

R wven AR foran @ oA &1 ifUeR St @11
St Biel & UY W AT, Hell BT SUSR S Bl |
TI-FIABR 3P A AHR, o= i @ afer g
3Tt FisT R GBI, 3R F HBY W AT

forem e W foran 3, ¥ie & digR S 11

Y: 39 Hfdar ¥ die 3R Ta fad udie 32
1. B Yobel & 3R B TS U B
2. BIC Yhel &b 3R Bdl &I &b Ul & |
3. Bic SUBR & 3R Hd §fcl & U1 ¢ |
4. Hic J@i & SR Fd Yl & T gl

Correct Answer :-
. Pic Yl P 3R B gl &b Ui o

48) U UY &I U A U 3R A R My $13=R &:



o 1= Wi o 8 < &1 SifteR S*ft 31
St il & UY W AT, Tl BT SUSR It B |
TI-FIABR 5P AW AHR, o diar g afer g |
3Tt FiaT R GXHHT, 3R F HBY W AT |

o e Ak foran &, He @ igR St &7 |

uy: o9 &1 JfUeR frd 82

1. TRA ST HMRAFRIY AT IS |
2. A BT ARAFR IV TN HFH AT |
3. S &1 SHYSHR IT g o M T X |
4, O T HRBR IV A AT TSN |

Correct Answer :-

. T PTAHNPRIATHATITS |

49) U U H! U A U 3R A RE My $13=R &

o= wn e o @ oA &1 ifUeR St @11
St il & UY W AT, Tl BT SUSR It B |
TI-FIAPR 5P AW AHR, o iar g afer g |
3Tt FiaT IR GXHHT, 3R F HBY U AT |

o e AR foran &, Hde § igR St &7 |

WY: S HiadT I ATIHY 7 URom faredt 82

1. 39 BIAdT H BH §Ud — 5Ud B HY DI Tg I IR0 fHyerell & |
2. 39 Hidar H g5 g9d — g9d Si- &1 IRor fireft 31

3. 39 Hidar § g8 Ad —Id 8 B B Tg- &1 oRon fAreht g

4. 3Y HIIATH gH g3 HY BI HgA BI URon el 5

Correct Answer :-

- U BIAd A gH §UA - U B DY 1 e b IRM fIvereht &



3 T DI AT 9§ Ue 3R A 3T T8 yx1 #13wR &:

afgensi It wgdt yfireT & IR § el ot A w1 3rfEa & Aol & uy wR, # et

THR BT U H & T IR 81 §1 98 °f 3711 o g SiftreR 31 91 7 o 3 fapeft
TPR FI 3RGAYUT TE g1 T1iT | Tt R &1 Wi 8 1 g0 Y AT 8, 98 99 ! gied!
3R fEEd 81 R BT YEvEa R F= ST U Bl 3 | I AP 3, AfS 98 &M T HY Al
AR A4 Sfa 7 g e

U 3 TR P UG §HS forg et e samge?
1. 2 BT Ue rerel Hiell

2. BIDI

3. TR S b1 gret

4, T

Correct Answer :-

51) 39 el P &9 ¥ Ue 3R - few e uwq #13wR &

wfgarsi @1 Agedt YfAreT & TR o i o A w1 un«fal F ARERI & uy W), § fHeh

UHR BT U H1 & T R 81 §1 98 o 371 o g SiftreR 31 98 g o 3= fapeht
UHR &I GFAUT TE g AT It TR Bt WIBL 3 1 Y3 A} HHTAT 8, I8 3§ I ! Fiedt
IR T 31 TR T I@RWIT 3R T T UTerd Bl ¢ | 98 JPATAT o, S g @M A DY Al
AR A4 Sife T g\

W 3 T B Ugp qa13¢ P 7ieht off i ara & e wwsiiar 78) <= amgar
1. TTef ot TNt & SHIPRT & Y IR H PR BT THAaT Ta] BT 16|
2. TiTeft oft et & srRgfaen & uy R el U R &1 gHgiar 78] BT aed |
3. TTet it el & SR & U9 IR farelt TR 7 THgiar Tl &1 argd |
4, TITER o Sl O SIRIBRI & T W B TSR &1 Tl 6] AT 18d |

Correct Answer :-

. TR oft ot & i RT & Uy WR forelt TR &1 H=iiar T8l SR e |

52) 39 Y $I A A U 3R 1 e T Y= +13«R <



wfgensi Ht gt yfaesT & IR 7 e ot F Ha7 31l & HfUeRT & uy wR, # foedt

UHR BT U H & T IR 81 §1 98 °f 3711 o0 R SiftreR 31 ) 7 o 3 bt
TR B gfaer T8 gt afeu | Wit R &1 Wifir 81 39 ) uTar 8, 98 S Gad! dicdt
IR fEETd 71 TR T IERE14 3R T= BT U el ¢ | I IYATAT 3, Al I§ @M A DY At
IR} 7Tq Wity 9 g Sme

UT: S I B UgHT qa1st fb Mieh off A Wi & o fred 1 8
1. G
2. ST
3. SIHIC

4, HRJHTT

Correct Answer :-

53) 3 el P &9 A Ue 3R - few e uwq #13«R &

wfgenai Ft wedt yfirer & IR 7 i ot A Fer 3T R & AfteRI F uy wR, # fHadt

UHR BT U H1 & T R 81 §1 98 o 371 o+ g SiftreR 31 ) g o 3 fapeft
TPR Pt SRIFAUT TS g1 TR | Tt TR Ft WAL 3 1 Y3 At FHIGT 3, T8 SQ JaP! dicdl
IR T 31 TR T I@RWT 3R T BT UTerd Bl ¢ | 98 JPATAT o, G g @M A DY a1
AR |14 Sifa 7 g e e

W= 3 TR 1 UgdR darsC b ieh off frd srgfaer 7 81 & anr # 919 #ed 82
1. Sl

2. Rrerpt

3. et

4. q&W

Correct Answer :-

54) HTHT B} URHTT 3:
1. YT 98 1eH 7, Fores gR1 A Rith Ugahz 319= T & HTa a1 faaR| &1 SMieM-Ue &Rl |

2. TS 98 WA 8, P gRT AT A, Yo, feRadhR 9 Ugahr 30 T & HIdl a1 faaR) &1
TEGH-UGH Sl g |



3. YY1 98 1Y 5, forier gRT I8 Sidds, YADR, feRgah d Ughx 370+ 0 & Y1d! T faaR] &l
G- UGH 6! Bl 5|

4. VTS 98 A1eH 8, o gR1 Ae R e, 3109 T & Hidl a1 faaR) &1 3eH- UaH ol

Correct Answer :-

o TS 98 YA &, o gRT 7S SIdax, FAHR, [oRadR d Ugdx 30+ H9 & H1al a1 faam) &1
SMTE-Ue™ FRal g |

55) HINT & a9 FU B 2

1. TG TV, ferRad T, Hidsfaes ||
2. Mifges uTe, ferfRard wTe, Hes v

3. Tfge yTe, ferRad T, Aiosfad HTeT|
4, IR HTHT, Yo7 UTHT, Hidhfd HTHT|

Correct Answer :-

. T Hre, fafad Hie, gicfas ||

Correct Answer :-

. &, gaall

57) «RR 3R 9> &1 3k B:
1. ST 99 3R o

2. U= & foTU 3R wre

3. g QR 3R BrgT

4. 9gd TTERT 3R WIS

Correct Answer :-

« T I 3R 9



1. 3ftg

2. R
3. 3T

4, 3dd

Correct Answer :-

59) “®gd g Ul IURT & A7 oA A W MUY
W & Huil | gof A1 g 1T Y A1«
A P AT &2

1. Tifcept

2. JeTal

3. gikfifaesT

4. QT

Correct Answer :-

60) “3fosl” BT Y ¢:
1. BT 3R 3T
2. HUA 3R Yfafed

3. HHA 3R IGHT
4. Uc T T 3R AT

Correct Answer :-

. HHA 3R TGHT

61) “3JUH” HT UGigar:
1. 39

2. 3

3. 3l
4, A<

Correct Answer :-



62) 9 XA 19 P YT aTHI | g4
AR & IURT ©d GHI g1 147

1. JARd ¥ Ugd & A T 8l T

2. GO g3 3R T T 81 7T

3. gATGH g 3R W AT gl

4, YIieg 9 Ugd g1 WA &1 3id g1 T

Correct Answer :-

. IR g3 3R Wl FHI 1 77|

63) Tiad R HEf I sy fearsar gl
1. CT&IUT

2. ol

3. qaHTd

4, YT

Correct Answer :-

64) H a7 afen @t fdt uer wia faRiven &1 foeror g9 & sron siftres fafderan ik
e =& g

1. HoKioh DI
2. WS pIH
3.3qrde

4, JdY HTg

Correct Answer :-

. TGS BT

65) 3 AP A G~ IW@ qTdl:
1. ¢fd®

2. Sifdd



3. Ufgp
4. ¢

Correct Answer :-

66) HGThT:

1. BT TS HIs HIHE, Il AT RIS 10T WU 9= g1 A1 |

2. 3RS 3R IYHT A1S Dl Sadl, IS 1 RIS 0T WU &3 g1 =nfgul
3, Pifag 3R IUHT T B8 Uy, TR a1 FRier &g - =gyl

4. TTiEG 3R IHHT TAF B Sadl, el a1 FRIGT 10T Fud &f3 g anfeu

Correct Answer :-

. WG 3R IUHT AT H1g SadT, o a1 RIS 101 Yud &g g Ayl

67) Yewiad A fawg &1 T wmar 1
1. 3G

2. Gigreitepor

3. faR

4, THI

Correct Answer :-

68) HIGHTYT HEaTd! &:

1. 98 HTVT fSR8 STeTh 31U TSI T STl d IR g |
2. 8 HTHT for 1A 0= IRAR § ST d el 3
3. 98 HIVT SR ST 39 SR ¥ SUATaT d YRadT g
4, 98 TS o ST {0 THdl I SO § Hadl ¢ |

Correct Answer :-

. 98 YTV o aTefer 3107 URaR § 3uHTdT 9 dRadr 2|

69) ‘HRAI AT SRIPIT&THRA B’
JURIGd T § T GeTax BT T Be |



1. SH T, U AT

2. T YR AR I

3. 3l g, Bl UHdH Bi d<g
4, RI R I|R TG R

Correct Answer :-

. IRI IR W TG R

70) Y e &1 A I U¢ 3R < 3T T g7 F1 3R &:

afgensit @1 ggdt Yfaer & IR & MR St A Far U F fUeRt F Uy w, # i
UPR T IHSNAT 1 & T R 781 1 98 o 39371 o0 R iR 81 ) g o 3% st
TPR B 3gfaer T8 g1 TiRe | T R &Y Wit 81 73w A HHrdaT €, 98 I JaP! dicdt
IR fEaTd 81 TR BT IEREIT R = BT U Bl §1 I8 AYATAT §, TG T8 &M 7 B al
GINEIECEICE A IR

T=: 39 T B UgHR gaisy (% R B Wit S 82
1. TR P W ST

2. TR P @I W R

3. IR P! WA A wfd 2

4. TR B W 2y B

Correct Answer :-

. R DWW

Topic:- General English

1) Choose the appropriate preposition for the given sentence:
We can offer a discount _____ special items.

1. for

2. from

3.in

4. on

Correct Answer :-



2) Choose the appropriate preposition for the given sentence:

The students were happy when the school agreed to sanction the use of calculators __ math classes.
1. at

2. for

3. with

4. in

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

The trend is to retire _______ thirty years of service.

1. with

2. without

3.1in

4. after

Correct Answer :-

» after

4) Choose the appropriate prepositions for the given sentence:
The instructions were ______ French. I translated it _______ English.
1. through, to

2. into, in

3. for, for

4. in, into

Correct Answer :-

5) Choose the appropriate articles for the given sentence:

housing facility provided by university includes some basic dormitory accommodation.

1. An, an



2. A a
3. The, a

4. The, the

Correct Answer :-

e The, the

6) Choose the appropriate articles for the given sentence:

first point to note is that donations under Section 80G are treated as deduction from
your gross total income.

1.Aa
2. A, an
3. The, a

4, The, the

Correct Answer :-

7) Choose the correct form of verb for the given sentence:

When | went to interview the film star, he told me that he couldonly __ me a few minutes.
1. lend

2. spare

3. hear

4. spend

Correct Answer :-
e spare

8) Choose the correct form of verb for the given sentence:
One of the trees has been down.

1. fell
2. cutting
3. cutted

4, cut



Correct Answer :-

e cut

9) Choose the correct form of adverb for the given sentence:

As the car caught fire, he jumped out
1. unknowingly

2. with fear

3. immediately

4. similarly

Correct Answer :-
e immediately

10) Choose the correct form of adverb for the given sentence:

When students register for classes, they must pay an additional fee.

1. quickly
2. lately

3. slowly

4, late

Correct Answer :-
e |ate

11) Choose the correct form of adverb for the given sentence:

Though hewas _______ disguised, he was captured by the police.
1. conspicuously

2. smartly

3. carefully

4. neatly

Correct Answer :-

o carefully



12) Choose the correct form of adjective for the given sentence:

Anita is full of life and energy. She is very
1. brilliant

2. cheerful

3. lively

4. interesting

Correct Answer :-

13) Choose the correct form of adjective for the given sentence:

The noise from the discowasso ____ that | had a severe headache.
1. tolerable
2. tolerating
3. intolerant

4, intolerable

Correct Answer :-
e intolerable

14) Choose the correct form of expression to complete the sentence:

The worker receiveda___ when he was injured at work.
1. compendium

2. contribution

3. refund

4. compensation

Correct Answer :-

e compensation

15) Choose the correct form of expression to complete the sentence:

In order to give up smoking, you need to exercise great

1. will power



2. abstinence
3. effort

4. endeavor

Correct Answer :-
e will power

16) Choose the correct form of modal auxiliary verb for the given sentence:

She asked the driverif he _______ kindly stop the bus.
1. shall

2. would

3. should

4, will

Correct Answer :-
* would
17) Choose the correct form of tense for the given sentence:

Although he hard for over five years, he hasn't got a degree yet.

1. has been studying
2. will study
3. studies

4. is studying

Correct Answer :-
e has been studying

18) Choose the correct form of tense for the given sentence:

Our English teacher all the books last Friday.
1. has corrected
2. will correct

3. corrected



4. had corrected

Correct Answer :-
e corrected

19) Choose the correct form of tense for the given sentence:

I___ youknow the result as soon as it is announced.
1. have let

2. will let

3. had let

4. was letting

Correct Answer :-

o will let

20) Choose the correct form of tense for the given sentence:

Does your brother English?

1. spoken
2. speaking
3. speaks

4. speak

Correct Answer :-

21) Choose the appropriate articles for the given sentence:
Board Meeting was chaired by CEO in the absence of the Chairman, who was on
vacation.
1. An, the
2. A a
3. A, the

4. The, the



Correct Answer :-
e The, the

22) Choose the appropriate articles for the given sentence:

brief report on two-day workshop on Marketing and Sales held in May has been
enclosed.

1.A a
2. The, an
3. The, the

4. A, the

Correct Answer :-

23) Choose the most suitable determiner for the given sentence:
Therewas ___ food to feed an army.

1. most

2. more

3. much

4. enough

Correct Answer :-

* enough

24) Choose the most suitable determiner for the given sentence:
Isthere ___ buttermilk in the cooler?

1. little

2. much

3. any

4, few

Correct Answer :-



25) Choose the passive voice of the sentence.
Shut the door.

1. The door is to be shutted.
2. The door is shut.
3. Let the door should be shutted.

4, Let the door be shut.

Correct Answer :-

e Let the door be shut.

26) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: According to the passage, for how long had the study on the animal been conducted?



1. Not mentioned in the passage
2. 3 years
3. 30 years

4. 20 years

Correct Answer :-

27) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: How did the team study and know more about the rodents?
1. The volunteers wore different shirts when they appeared before them

2. They hid inside the prairie dog villages and recorded the sounds



3. The scientist played back some of the recorded sounds

4. They placed secret cameras at strategic points

Correct Answer :-

¢ They hid inside the prairie dog villages and recorded the sounds

28) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: In the passage, the writer say that these animals were “"dubbed dogs” because they:
1. lived in the prairie dog villages

2. barked like a dog

3. were as intelligent as dogs

4, looked like canines



Correct Answer :-

» barked like a dog

29) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: A suitable title for the passage could be:
1. The secret language of Prairie Dogs

2. Vocabulary building by animals

3. The great story of the Gunnison Prairie Dog

4, Professor Con Slobodchikoff’s research

Correct Answer :-

o The secret language of Prairie Dogs



30) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: Which one of the following statements is TRUE according to the passage?
1. The language of the rodents were not as complex as those of dolphins or whales

2. In his study, the scientist identified more than 100 vocabulary

3. Prairie dogs are land squirrels belonging to the rodent family

4. The Gunnison are found everywhere, except in North America

Correct Answer :-
e Prairie dogs are land squirrels belonging to the rodent family

Topic:- General Knowledge



1) 1f 5P of the month falls 4 days after Sunday, then what will be the day on
the 16tM of that month?/ afe #gA &1 5qi A IAR F 4 A TG AT ], AITHER &
16 § &7 &1 a1 fa= grme

1. Wednesday/ gYdR
2. Sunday/ 3fddR

3. Friday/ Y[shdRR
4. Monday/ 9HdR

Correct Answer :-

« Monday/ AR

2) Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s
rank is 17t from the last, then what is Suresh’s rank from the start?/ 39

faamafdal &Y ue wean §, IR, =N A 7 U M 1 AfS =i 1 Ug, Ay A 17917, @t
R BT UG 3FT A FIT G2

1.23th / 23qi
2. 16t/ 16ai
3,24t / 2477

4,12t / 12gf

Correct Answer :-

. 16th/ 16af

3) In the following question, select the related letter/word/number from the

%:%I;n alternatives./ fA=ffad v A fau v faweal A Q gwfRd sieR/ree/AE &1
|

LMN: VWX :: BCD:?
1. FHG
2. GFH
3. FGH

4. HFG

Correct Answer :-

. FGH



4) In the following question, select the related letter/word/number from the

%ggn alternatives./ f=fefaa uwa o feu e fowel # & TR sieR/Rre/€s &1
|

ARCHITECT: BUILDING:: SCULPTOR:?/ dRg®R:SHR :: fdbR:?
1. Chisel/ &1

2. Statue/ PIGE]

3. Stone/ IR

4. Museum/ IUGTed

Correct Answer :-

. Statue/ UfqHT

5) In the given diagram the rectangle represents males, the circle represents
actors and the triangle singers. Which numbered area represents male
singers?/ 3T T 3ma ¥ 3maa g3l &1 wfafAifte var 8, ga siimars v Ay et
o1 ufaffRica &3ar 3| ST IS &F TV Tae! 1 ufaffia @wdar -2

2.5
3.8
4.6

Correct Answer :-
e 3

6) DIRECTIONS: Which of the following can replace the question mark?/
frdzr: e 9 @ w9, vy e & yfornfia s aears 2

CD-12, LB-24, BP-32, NE-?
1.45
2.75
3.95

4.70



Correct Answer :-

7) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation:/* ﬁa‘raﬁmﬁ%fﬁqaﬁ?%qwqﬂwﬁ
Tgfera w3 & fore nfordia Tdbdt &1 9} T A

8*6*96*2=0
1. - X +
2, X + -
3.X -+

4 + - X

8) Which one will replace the question mark (?)?/ﬁﬂqﬁﬁﬁqmﬁiﬁ (?) 9
A UTiUd Hm?

T 3 5 1 W‘J/ 6 3 V 8
83 53 98

1.4
2. 11
3.5

4.6

Correct Answer :-

9) Snake, reptile and rat can be represented by:/ T, ¥ aTd =g 3R I8 FHI
21T o 9par &

REia



OF
00O

Correct Answer :-

A
A\

10) Anil is taller than Sunny who is shorter than Baby. Anil is taller than Bose
who is shorter than Sunny. Baby is shorter than Anil. Who is the shortest?/

3fre, I A a1 g, St 9dt A Dler 2l oifd, AT A dar g, S J41 A Bler g 9dt, A A
I T ATE BIeT B 82

1. Sunny/ I=1
2. Baby/ Sl
3. Anil/ 3
4. Bose/ S

Correct Answer :-

. Bose/ 91

11) How many major seasons are there in Madhya Pradesh?/ H tr%.'{r A faa uqy HaH

B 37
1.3
2.4
3.2

4.5

Correct Answer :-



How many districts of Madhya Pradesh were there in 1956 after the Reorganisation of

States was done?/ 1956 ﬁuﬁ%m%mnwmﬁﬁmﬁﬁﬁ q?
1. 43
2. 41
3. 44

4. 42

Correct Answer :-

» 43

13) Simhastha is held in Ujjain after every Years./ Rig® 3= A Td® aqut
& T1¢ Smaiferd fear wmar B

1.7
2.10
3.12

4.5

Correct Answer :-

e 12

14) The Sanchi Stupa was initially and originally a low structure made of —/ it LA
RIS TU A R @ 9 J ¥ fAftfa v oYer W= Ul

1. Stones/ YR
2. Sandstone/ d¢f3T YRR
3. Clay and mud/ﬁlﬁﬁ@ 3R 7fieh ﬁ-@

4. Bricks/ s‘%

Correct Answer :-

e Bricks/ s‘%

15) The Diwari in the Baredi dance is actually —/ Tﬁ?ﬂ I o Eﬂﬂ'lﬂ IRda § |1 %?
1. The poetry before the performance/ PLREE U,_:q;ﬁ Hiadr

2. The poetry after the performance/ YSTH I UYTd &1 Hfddr

3. The jewelry worn by the performers/ Tolforal gRT U8 T STHYUT

4. The dress worn by the performers/ Tafpar GRI Ug- T4 a%d



Correct Answer :-

» The poetry before the performance/ LT qa‘ﬁ Hiadr

16) The folk-lore of Dhola Maru also sang in parts of Madhya Pradesh is originally from —/

A AR Sl I HAUSY P s &3 A AT 14T @ IRATdP U 9 {5 37 1 Abifid 82
1. Maharashtra/ HeRTY
2. Uttar Pradesh/ 3% UeT

3. Gujarat/ T[SIRTd
4. Rajasthan/ TSI

Correct Answer :-

« Rajasthan/ ISR

17) The area of Madhya Pradesh covers about of the country’s area./ U &
BT AT T HeA YT & &%d | A g

1.9.8%
2.9.9%
3.9.5%

4.9.0%

Correct Answer :-
e 9.5%

18) The inscriptions of the Bandhavgarh Fort is in the language of —/ CIV GRS fFPasd

e g v A 82
1. Pali/ @Teit
2. Prakrit/ YTehd

3. Sanskrit/ &b
4. Braj/ SIS

Correct Answer :-

« Sanskrit/ 9¥Hd

19) Towards which direction does the Central Highlands slope?/ ITsd & Had W’{ﬁ Eﬂlﬂ"ﬁ
Dt ea fHa 3= Y 3R it 82

1. South/ Ef&for



2. East/ E@f
3. West/ Tf3H

4. North/ 3<?

Correct Answer :-

e North/ 3tX

20) The recently launched e-RaKAM portal is related to the welfare of — / §Tcl 'Eﬁ ﬁ"{[‘l-l'l?"l-[
P TS SIPH UIcd fFH &7 S HuTur A Hafid 82

1. Mining Industry/ =9 &R
2. Students/ S

3. Income — Taxpayers/ 31T — HqIdl
4. Farmers/ foam

Correct Answer :-

« Farmers/ fam™

21) In whose court was Tansen a musician of?/ fF® Ie-GRaR # a9 TifiaeR &2
1. Humayun/ 3919,

2. Shah Jahan/ 2TgSTgl

3. Jehangir/ S8R

4, Akbar/ b d

Correct Answer :-
e Akbar/ Hhda

22) In which year did Babur establish the Mughal rule in India?/ {9 af & g1e% 3 4R #
I AT AT o 32

1. 1527
2. 1529
3. 1528

4. 1526

Correct Answer :-

« 1526



23) In which year was the Sahitya Parishad established in Madhya Pradesh?/ gAY §
e ufvug ! oo af & wfia fosar arm 412

1. 1952
2. 1955
3. 1954

4. 1953

Correct Answer :-

« 1954

24) In which year was Kanha constituted into a National Park?/ fFagadd Akl 3] ?Tg’l'ﬂ
I & U A f$d foear T 41?7

1. 1957
2. 1955
3. 1956

4. 1954

Correct Answer :-

« 1955

25) Which of the following initiatives is related to enriching forested areas with medicinal

plants?/ BT g Nwehta dier & 1Y 97 &A1 B T B A U 82
1. High Tech Plantation Scheme/ 8T ¢& WicRM I

2. Lok Vaniki Mission/efies dTf-eb! f

3. People’s Protected Areas/ ERCIFRNEREAE]

4. NWFP Scheme/ TTS&gUHUT IS

Correct Answer :-

« People’s Protected Areas/ SiHdTa] SRf&d &

26) Which of the following districts fall under the category of densely forested districts of

the state?lmﬁﬁﬁﬁﬁq-mmﬂ:ﬂﬂ-mmﬁﬁfﬁﬁQ‘Uﬁﬁm%'?
1. Morenalﬁ%ﬂ

2. Sidhi/ it

3. Gwalior/ TaTferIR

4. Nimar/ f4aTS



Correct Answer :-

« Sidhi/ Iteft

27) Which of the following folk-dances of Madhya Pradesh is initiated by a lone woman

locally called ‘Jhela’?/ HEAUSRT & T die-Jal § A $IF- T RIFY ¥R R AT Hgam
qTell 3rdselt AfgET GRT Y= fovaT e 372

1. Matki/ TCah!

2. Badhai/ 9GI5

3. Gangaur/ TURTR
4. Rail XT3

Correct Answer :-

. Matki/ #CHI

28) Which of the following folk-dances has a special significance to unmarried girls of that

region?/ fafIfEaa die-Ta A | S19-11 T sifqarRa asfeal & R faRiv gga T@ar 82
1. Ahirai/ 3fgRT5

2. Gangaur/TI'UF'ﬁT

3. Naurata/ FRTdT

4. Rai/ T3

Correct Answer :-

« Naurata/ -'-i [l

29) Where is the annual dance festival ‘Lokranjan’ held?/ 9Tfi® o GURIG @B BBl
STAford g 872

1. Sanchi/ g

2. Bhopal/ HIaTd

3. Ujjain/ 3=

4. Khajuraho/ E—\g’?@

Correct Answer :-

» Khajuraho/ @Gﬂlé

30) Where is the Mamleshwar Temple situated?/ H'I'Hﬁ%l? HfeR el R %?
1. Ujjain/ I&1



2. Khajuraho/ @@QI?

3. Ratlam/ IddTH

4. Omkareshwar/ 3B

Correct Answer :-

« Omkareshwar/ 3BRYT

31) What is the time for sowing Rabi crops in India?/ HRRd H & Bl w DI HHY HT

8?

1. September-October/ RidaR- Sfagar
2. January — February/ SaRI- BRaR]

3. November — December/ TdaR- fddsR
4. February — March/ HRasl- A

Correct Answer :-

- September-October/ RIdeR- 3{aar

32) Which clan of Rajputs did Raja Bhoj belong to?/ ITSTT HIST IeTYdl & HIH- A a7 |
TR 42

1. Parmara/ YXHR
2. Chandela/ Elé?’f

3. Bhumihar/ 48R
4. Ganwaria/ T1aTRAT

Correct Answer :-

« Parmara/ UXHR

33) Who launched the newspaper ‘Kesari’?/ SHHR U7 "B Bl R[S 3Td fraq ot dte
1. Lala Lajpat Rai/ dI<il <isiud 1T

2. Bal Gangadhar Tilak/ TcT TMeR fadis

3. Aurobindo Ghosh/ 3Rfea! g1y

4. Gopal Krishna Gokhale/ TﬁWWTﬁ'@ﬁ

Correct Answer :-

« Bal Gangadhar Tilak/ ST TATTER IGNED



34) Which city of Madhya Pradesh will have India’s biggest Global Skill Park?/ AU b
PI-A R A HRd BT JaA T81 Ay Fivra I (olad f&pa urdb) fAfdfa g

1. Jabalpur/ STdeT4R
2. Bhopal/ uara

3. Indore/ AR
4. Gwalior/ TTeRIR

Correct Answer :-

« Bhopal/ Hara

35) On which river’s banks was Harappa situated?/ ST fa 7t & o W fRya u1?
1. Luni/ St

2. Bhogava/ e

3. Indus/ ﬁfﬂ

4. Ravi/ 31fd

Correct Answer :-

. Ravi/ Tfd

36) If ‘"MADAGASCAR' can be written as '4727879670', then 'MADRAS' can be
written as:/ df¢ '"MADAGASCAR’ &1'4727879670' foar 9T 8, 99 'MADRAS' &1
1 foraT sImam?

1. 472490
2.472079
3.427409

4. 424290

Correct Answer :-

« 472079

37) The simple interest on a certain sum at 5% per annum for 3 years and 4

years differ by Rs.42. The sum is: /{3 3 W 59, a1ftfer surer #1 g3 A 3 a6t 3T 4 quf
T YT ATERUT ST | Rs.42 BT 36 8 | R J1d B

1. Rs.750
2.Rs.210

3. Rs.280



4. Rs.840

Correct Answer :-

e« Rs.840

38) In a certain code 'PLANT' is written as '$@2*©’ and 'YIELD' is written as
‘#64@%’. How is ‘DELAY’ written in that code?/f&wdt fAif3a %e # 'PLANT' &1
fRrEd € '$@2*©’ 3N "YIELD' &I forad § '#64@%’ | 39 ¥ ¥ 'DELAY’ &4 forar
STET?

1. #4*2%
2. #4@2%
3. %4@2#

4. %42Q@#

Correct Answer :-
e 4@24#

39) A and B together can do a piece of work in 5days and A alone can do it in
8 days. B alone can do the same piece of work in:/ A 3R B firae: fHdft s 31 5
oA A & TP 8 3R A 3P A 3T FTH &I 8 el A H3 a1 3, A B 3/hd 39 HTH &I fHaq
o & o

1.

40) The difference between the interior and exterior angles at a vertex of a
regular polygon is 150°. The number of sides of the polygon is: /WEE‘H\‘:T%
ST TUT ITET HIVN BT 3R 150° 8| TGYS Dt Y13 1 =T 1 Be |

1.24
2.10

3.15



4. 30

Correct Answer :-

. 24

41) A car goes 10 meters in a second. Find its speed in km/hour./T® $RX 1 AP
H 10 Hiex B gt 79 el 71 HR 31 i et o gra ¥

1. 48
2.40
3.36

4. 32

Correct Answer :-

42) Simplify:/I3d H

1

2
1+ —5—

1+

<]
1—
2. 17

11
1=
3. 17
21
1==
4. 17

Correct Answer :-

11
1=
. 17

43) Simplify:/I3d Bs:

2

1+ ——3—



=]

LA =

W | =]

4.

Correct Answer :-

7

44) The average salary of all staff of a school is Rs.10,000. The average salary
of 20 teaching staff is Rs.12,000 and that of non-teaching staff is Rs.5000, the
number of non- teaching staff is:/wmﬁﬂﬂ-ﬁmﬂﬁaﬁwm
Rs.10,000 &1 20 3SATYH] BT ST 3T Rs. 12,000 TUT 3= St ALATIH &1 3, Pt A 3T
Rs.5000 2| 39 FHATRYY B TBT T H¥, ) SATYS 81 5|

1.7
2.12
3.10

4.8

Correct Answer :-

45) If in a code language RUSTUM is written as INWANZ and RASTOGI is
written as IXWAVJK, how would RUSSIA be written in that code?/ afe fa<it
T3 HeuTaT ¥ RUSTUM &1 INWANZ T 5T @ 3k RASTOGI &t IXWAVIK feran
W11 8 df 1 Pe UTIT H RUSSIA & frd uoR forad 2

1. INWWKX
2. INNWKT
3. INNWNX

4. INNWKJ

Correct Answer :-

« INWWKX



By selling a plot of land for Rs.45,000 a person loses 10%. At what price should
he sell it to gain 15%?/ Rs.45,000 § TH YEUS 99 UR TH HATHI B 10% T IS USelt
2, A1 15% a1 FAM F T y@vs i fFaq 303 & S99

1. Rs.60,000
2. Rs.57,500
3. Rs.55,000

4. Rs.50,000

Correct Answer :-

e Rs.57,500

47) The sum and product of two numbers are 12 and 35 respectively. What
will be the sum of their reciprocals?/ﬁﬁ@lﬁﬁﬁﬁﬂﬁmwmz 12 dYT 35

2, 3T Ioh I BT UNT AT ERI?
12
135

E
2. 12

w
LA =k

[PV R

4.

Correct Answer :-

12
o 35

48) The sum of three numbers is 98. If the ratio of the first to the second is 2:
3 and that of the second to the third is 5 : 8, then the second number is:/?ﬂT-r

TEIT3HT BT AT 98 31 AfS Ugell 3R gt W@AT 2 : 3 & JUTd H § 3R gt ok it den &1
YT 5 : 8 §, 1 GO HSIT T BY|

1. 48
2.20
3.49

4. 30

Correct Answer :-



49) A can do a piece of work in 15 days and B in 20 days. If they together work
on it for 4 days, then the fraction of the work that is left is:/A T® &TH &I 15 fe1
Hqur B, 20 A A HR Tpar g I 3 v WY 4 oAl T FrH FA T AN AT P ©:

1
1.4

4. 10

50) A train is moving at a speed of 132 kmph. If the length of the train is 110
meters, how long will it take to cross a railway %Iatform 165 meters long?/

TS 110 Hiex dat vamst ot 132 fordi/eer &t 1fd 9 96 761 81 39 T 165 Hiex &d Jd & UR
P ¥ a1 Iva aam?

1. 7.5 seconds/7.5 &3
2. 15 seconds/15 d&s
3.5 second/ 5 ¥HS

4. 10 seconds/ 10 Y&sg

Correct Answer :-
. 7.5 seconds/7.5 &S

51) A train 800 meters long is running at the speed of 78 kmph. If it crosses
a tunnel in 1 minutes, then the length of the tunnel (in meter) is:/ TS 800 Hex
it oSt 78 fpei/eer 3 fa | Terd T TH A 1 1 fidTe # uR # At 8 1 Ia18T 39 IR
P dars (Hiew ) fpait 22

1. 1500
2. 77200
3. 500

4. 13

Correct Answer :-



52) A sum becomes Rs.1,352 in 2 years at 4% per annum compound interest.
The sum is:/ I YRR 4% TP Thgfx AT BT G2 T 2 TUF A Rs.1,352 B AT &, @ &4
Al g:

1. Rs.1,270
2. Rs.1,245
3. Rs.1,250

4. Rs.1,225

Correct Answer :-

« Rs.1,250

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts. /fAdr: ﬁ%%qwmﬁwmmaﬁvm
915 0 fAswd far e €1 st AT T Syl & I U= @ Ha € 9 Tdya 9l | e
wodta gia i | 9t st &) ufew fbr aa sifore f faw e fArseut & @ e fAsed fg e
FHYAI BT BT $U F SFEV Rl 8, TIe Faud 9 o W g

Statements:/HY:

Some papers are dogs./ P& BN, ﬁ%l

Some dogs are windows./ T3 ¥, fasfHar g

All windows are trees./ Tt ﬁgﬁ?ﬁ, a?,'%l
Conclusions:/ﬁwﬁf:

I. Some windows are papers./ W@Eﬁﬂﬁ, ?ﬂ'ﬂ\_rr%'I

II. Some papers are trees./ P PNV, ﬁg%l

1. Either Conclusion I or II foIIows/?IITﬁWGTI gr 11 WUTW%
2. Neither Conclusion I nor II foIIows/qﬁEb'EfI qd1II &@TUTW%
3. Only Conclusion I follows/ %ad fsHY I 3{IERU BT §

4. Only Conclusion II foIIows/WﬁEﬁﬁfII WW%

Correct Answer :-

« Neither Conclusion I nor II foIIows/:rﬁEb"EfI q1II S@TUTW%



54) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'-'{r: ﬁﬁqwuﬂﬁﬁ$ﬂ?&ﬁ?m
a1 $o frepd fau e g1 sy AT T Sy & I AT @ YA 81 3 Tdga aa S i
Udid gid 8 | It et @1 ufeu fibr au Fifeme f fau e faseul & @ H9-a1 faeed 2w e
FY BT AHETT TU I IR0 AT 7, IS Td9Td 9 $3 i g1

Statements: /P Y:

No book is pen./ ®I3 Jx®, U= 781 81

Some pens are men./ Wﬁ‘f, Gna'lfﬁ%l
Conclusions:/ﬁw:

I. Some men are books./ $S 3ATGH!, [P &1

II. No man is book./ aﬁéenatﬁ, WT@[%I

III. All men are pens./ It Gﬂa’lﬂ, ﬁq%'I

1. None of these/37H ¥ g o

2.0nly I foIIows/W I &I_:PEITUTW%

3. Only either I or II follows/ddd a1 1 AT 11 &WW%

4. Only III follows/ad I11 IR0 Hl &

Correct Answer :-

« Only either I or II follows/&aq@ a1 I AT II &IT;NTUTWT%

55) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘\’rz ﬁ%ﬁEWWﬁW$ﬂ?3ﬁ?m
1 $© Frepd fag e §1 3y AT T Sy & I AT @ YA 81 3 Tdga aa S i
wofta gia gf | it st &) ufew fbr aa Fifore f faw e et # @ w1 fAsed feg e
FYA! BT TG U F SRV BT 8, TS TI7d a2 $© o |

Statements:/ HY-:

All Stems are flowers./ H‘l-ﬁ?ﬁ, lgg_cl%'l
Some flowers are trees./ $© §d, IS |
Some trees are leaves./ Wﬂg, tlﬁl'tﬁ'%'l

All leaves are plants./ Hﬁ-ﬁqﬁﬂ’f, tﬁﬁ%l
Conclusions:/ .



I. Some stems are trees./ S a1 US 3

I1. Some flowers are plants./ $9 d, e g
III1. No flower is plants./ aﬁs‘qz—c«r, tﬁwq'é’f%|
1.Only I and II foIIows/évT:IT'fI 3R 11 WW%
2. Only I follows/ %dd I 3IR0I Hdl §

3. Only either II or III foIIows/Wtﬂ II gT1111 &WW%

4. Only III follows/ ad 111 IR0 Hl §

Correct Answer :-

« Only either II or III follows/ &dd a1 11 4T I11 WW%

56) The HCF of two numbers is 15 and their LCM is 300. If one of the number is
60, the other is: /3l TSAT3I BT .. dUT &.9. SHHI: 15 dUT 300 ¢ | TS TP TEAT 60 2.1
SO =T T B |

1. 100

2.75

3.50

4. 65

Correct Answer :-

57) A alone can do a piece of work in 6 days and B alone is 8 days, A and B
undertook to do it for Rs.3200. With the help of C they completed the work in 3
days. How much is to be paid to C?/A fft &1 & 3rhadl 6 RN A FX gwpar g sk B
A I FTd B 8 A A I THATE 1 A 3R B 7 Rs.3200 H 1 FI forerR) ot 3k c # weg
¥ 35 o1l 31 3 o o T = fean,at oo i & ¢ &1 i fova=n ghme

1. Rs.400
2. Rs.600
3. Rs.375

4. Rs.800

Correct Answer :-

* Rs.400



There are Rs.225 consisting of Rs.1, 50 paise and 25 paise coins. The ratio of their
numbers in that order is 8: 5: 3 respectively. The nhumber of one-rupee coins is:/

Rs.225 B TP YFRTIRT @ Sl Rs.1, 50 U 3fi¥ 25 0 & Ryapl & =y A 21 afe Ryaw! #t 9= s
5:3 % JUTd A B, It TP A & Rigw| &1 G-I J1a HL |

1. 80
2. 160
3. 112

4.172

Correct Answer :-

e 160

59) The milk and water in a mixture are in the ratio of 7: 5. When 15 litres of
water are added to it, the ratio of milk and water in the new mixture
becomes 7: 8. The total quantity of water in the new mixture is:/wﬁrwﬁgu
IR Ut T SUT 7 : 5 81 19 A 15 dlex U framar sirar 8,491 -1 frsor & go o urit &1
3T 7 : 8 BY SITaT g 1 7€ fiysror & it Y o W Tarse|

1. 60 litres/ 60 e
2. 96 litres/ 96 e
3. 40 litres/40 e

4. 35 litres/35 drex

Correct Answer :-

e 40 litres/40 qreY

60) Three years ago, the average age of a family of 5 members was 17 years.
A baby having been born and the average age of the family is the same as
three years ago. The present age of the baby (in years) is:/ %ﬁqatfugﬁ, 5 gl
I1a URRaR @1 3d 3 17 99 81 Th 9= &1 o1+ gial §, fihe ot ufvar &t adur shea omg 3
f ygd Y 3T S S GHE 2| 92 F) aefwT 3y @ F) Fa pY

1.2
2. 15
3.24

4.3

Correct Answer :-



61) Which of the following fraction is the smallest?/F= fHU=T1 A 19 A 99 Bt %?

r

o | =
[ AN
=1l en

.

)
;
g.l
]
7

WO = ol =

e

Correct Answer :-

62) The cost price of 24 apples is the same as the selling price of 18 apples. The percentage of gain

is:/24 NSl &1 3549 Y4, 18 al & fIpa Yo & R1a% §, a1 ufa=rd @y 91 &3

1. 25%

331W
.73 7

zziv
3,27

4. 20%
Correct Answer :-
33 ! B

3 [+

63) Choose the odd pair of numeral./ GB13f & fauq g I g
1.36: 6
2.15:3
3.32: 4

4.42 : 4

Correct Answer :-

e 42 : 4



64) Anu and Bharti invested Rs.20,000 and Rs.24,000 respectively in a business.
Bharti left the business with his money after 8 months. At the end of the first
year they earned a profit of Rs.1,620. What is the share of Anu in the profit? /3]
3R UR =il SaUR ® HHRE: Rs.20,000 3R Rs.24,000 3= F7edl § | YRt 8 g &
91 3T AR BT AR BIS TN B| U8 A0 & oid H A ATY Rs. 1620 7| 3 P ArH &
&= & grm?

1. Rs.1,250
2. Rs.720
3.Rs.1100

4. Rs.900

Correct Answer :-

* Rs.900

65) Inert gases are?/ 3ifhg 1 g1l 82

1. Physically inactive/ Hifas U § siferasiia

2. Not stable/ SR

3. Chemically very active/ I™M® ¥4 ¥ dgd foharRiid
4, Chemically unreactive/ IR U I fcharefita

Correct Answer :-

« Chemically unreactive/ IS U Y fchareita

66) Two positions of a dice are shown below. When number ‘one’ is on the

top, what number will be at the bottom?/ T& U @1 ¢ fufaal & = femar man
21 oI ¥E e oY W, 99 e e W@ s

1.4
2.5
3. Can’t be determined/3Td ol T ST Jbdl

4.6

Correct Answer :-

e 5



67) The metal first used by man on earth was?/ J99 Ugd! UTg HI Il § ot AT A
SuanT &1 4?

1. Aluminium/ Tega=ae
2. Gold/ %auf
3. Iron/ FﬁET

4. Copper/ didl

Correct Answer :-

« Copper/ didl

68) When a wave goes from one place to another, it transports?/ Sd Tdh a3

TP R Y G VI B 3R T 3t o 78 fobaept a8 wdl 8
1. Energy/ &9l

2. Nothing/w-‘-@'

3. Mass/ &d

4. Matter/ 1ZIET%T'

Correct Answer :-

« Energy/ 3

69) Diamond is made of the same single element as?/ eRII TH FA T A
fraeR a1 ga1 & SUH SR T T g1 8

1. Chloroform/ FARIBIH

2. Common salt/ |IYRU THH
3. Sugar/ EER

4. Graphite/ J®T3C

Correct Answer :-

« Graphite/ UwTse

70) From the given alternative words, select the word which can be formed

using the letters of the given word./fFafifad fawe d 9 a8 e gf~a ot fg 1w
e P 3H&RT BT TN HIP F4TIT ST HbdT 8-

SOMNAMBULISM



1. NAMES
2. BASAL
3. BIOME
4. SOUL

Correct Answer :-

« SOUL

71) Excessive consumption of alcoholic drinks causes damage to the?/ dgd

3 AT # Tepigd T AT B I BT 37 W ) hdl 82
1. Lungs/m
2. Kidney/ g

3. Liver/ 9ohd
4, Heart/ gad

Correct Answer :-

« Liver/ d&d

72) DIRECTIONS: Study the following information and answer the questions

given: /3 & 8 SFEN @ wFyd® ue oMk i few e vl & I« &

P, Q, R, S, T and U are sitting along the circle facing the centre./ P, Q, R, S, T
AR U TH JaA T FE B MR TIPS A3 &

(i) P is immediate neighbour of Q who is second to the right of R./ P, Q &I
Fercar TSR e T PR F I A TN UF W &I

(ii) S is second to the left of T./ S, T $ T A TR VM W g
(iii) U is immediate neighbour of T./ U, T &I fA@cad skt g1
What is the position of U?/ U Eﬁf@lﬁw%?

1. Between Tand R/ T RR B

2. Second to the right of R/ R %Eﬁ@[m

3. Immediate right of Q/ Q & Fweaa e

4. To the immediate right of S/ S & MPpear g

Correct Answer :-

« To the immediate right of S/ S & M&cad ald



73) DIRECTIONS: Arrange the following in a logical order:/ fAd21: fA &t s
3rfquf wr ° FafRyd HI1

1. Butterfly/ fadaeit
2. Cocoon/ ﬁﬁ
3. Egg / 3fST

4. Worm/ aﬂm
1.1,4, 3,2
2.3,4,2,1
3.2,4,1,3
4.1,3,4,2

Correct Answer :-

74) The fundamental role of root hairs in plants is?/ Td 39 &1 &I &1 UIGU &

T g1 8:
1. To protect the root from soil microbes/ SISl ! Jal # IR J&H Sital I s & g

2. To protect the young root from damage by coarse soil particles/ EI@,HHTW@[:R‘YT
TSI P WIS 814 I 9 & fag

3. To absorb water and mineral salts from the soil/ SISI ¥ 9@ T @S AUl I SE=NVd
HA o ferg

4. To bind soil particles to the root for firm fixation of the plant/ G@@%%Waﬁﬂﬁ
TG UTeY Bl Teh WM TR TSI I8 & oy

Correct Answer :-

« To absorb water and mineral salts from the soil/ TSI ¥ Sd @ Wi-Iol Ad0T B AN
CZSEANY

75) The material used for a fuse wire should have?/ WGl aR foRT ugrd &1 1

BT § 3uH?

1. High resistivity/ 3= 3{ax1y

2. High melting point/ 3= eI fawg
3. Low melting point/ & TTeHi® fag

4. High ductility/ 3= d-ddl

Correct Answer :-



« Low melting point/ f% TaHi® fag

76) Two taxies start from the opposite points of a main road, 150 kms apart.
The first taxi runs for 25 kms and takes a right turn and then runs for 15
kms. It then turns left and runs for another 25 kms and again after taking a
left turn it reaches to main road. In the meantime, due to a minor
breakdown, the other taxi has run only 35 kms along the main road. What
would be the distance between the two taxies at this point?./?f%ﬂ'x‘ﬁ, 150
.10, 3t g8 W te g=1 TeF & o faudia figet d gemr Ry wdl § 1 ugelt TRt 25 fF.
TJeardt § 3R T gedt @ ofk kv 15 bt aardt B a8 A Tt gt @ ok 25 ). ot 2
3R fihY 8 oA & 91¢ §BT IS WR Ugad! 3 | 51 a9 U 3T g & HRUT gost caRit
= ISP A Had 35 .10, gardt 31 39 fag W gl ¢t & wem oY gt gft?

1. 75 kms/75 T .
2. 85 kms/85 fob H.
3. 80 kms/80 fob Hi.
4. 65 kms/65 fob 4.

Correct Answer :-

. 65 kms/65 Tl

77) Cinnabar is an ore of?/ RIAIR fHUPT 3P Ta18?
1. Iron/ ?ﬁBT

2. Lead/ A0S

3. Mercury/ URT

4, Copper/ didl

Correct Answer :-

o Mercury/ ORI

78) A is the father of B, C is the daughter of B, D is the brother of B, E is the
son of A. What is the relationship between C and E?/ A, B & fUar g, C, B &t Tl
2, D,BPHTURE, E, ABTIIE | C 3R E & Tty T 4=l 82

1. Uncle and aunt/amaT 3R 9t

2. Brother and sister/HTg 3R §g4
3. Niece and uncle/HdToit 3R 3T
4. Cousins/d oA

Correct Answer :-



« Niece and uncle/'l-l?ﬂ\_rﬁ 3R T

79) Dialysis is used for patients having?/ m&mmmmm%
fore fpar wiran 8

1. Lung trouble/ %! H T aTct

2. Kidney trouble/ Wﬁ‘v’lﬂwaﬁ
3. Heart failure/ gaamdrd ard

4. Liver diseases/ Tdd U INT aTal

Correct Answer :-
« Kidney trouble/ 9a% ¥ IH&T dTdl

80) Which country is called the "sugar bowl" of the world?/ A & a1
fay &1 i &1 FeRT” FeaEars:

1. Cuba/ HgdT
2. Argentina/ 3/SIcHT
3. USA/ e 5T 3ARDbT

4. India/ HRd

Correct Answer :-

81) The disease in which high levels of uric acid in the blood are

characteristic is?/ 919 3R ¥ g® a0 &1 AT St 81 STar € 98 HIA T BT A&7 82
1. None of the above / SWRIad H A BIS 78!

2. Arthritis/ Sl & go

3. Hepatitis / gUcrsfed

4. Gout/ taaT

Correct Answer :-

. Gout/ Tfean

82) Which of the following do not belong to the solar system?/ Gk Ekac
AR IR AUSH I Haf<d -] gial:

1. Comets/ EEI%



2. Asteroids/ &% Ug

3. Planets/ U8

4. Nebulae/ W

Correct Answer :-

« Nebulae/ W

83) Which of the following spices is obtained from roots?/ o o a1 weTen wer @

TS BT 32

1. None of the above/ SWRI&d H U BIs g1
2. Cinnamon/ GTerEH!

3. Clove/ AT

4. Turmeric/ gl

Correct Answer :-

« None of the above/ SWRIad & T HIs gl

84) Fernandel and Arletty starts from their office and walk in opposite
direction each travelling 10 km. Fernandel then turns left and walks 10 km.
Arletty turns right and walks 10 km. How far are they now from each

other?/HA~sd 3R TRAS! U GURR | T YT HId 3 MR faudia fezm & wd® 10 foreh
Tdd ¢ | Bea-sd fihe 913 gat 8 3R 10 fft gt 81 wRadt g gedt 2 8k 10 e Tadt
2133 U g A it gl R 32

1. 20 km/ 20 fobdit
2.5 km/ 5 fodit
3.10 km/ 10 ot
4.8 km/ 8 fobuit

Correct Answer :-

« 20 km/ 20 foHr

85) The gland that contains the body’s thermostat is?/ 9 # @ &9 It 4y ;R
o a1y P fAEfd $37 &1 S Hedl @

1. Pineal/ Tufqga fY

2. Thyroid/ YIeRISS
3. Hypothalamus/ HECIRIGE]



4. Pituitary/ 4lgy UfY

Correct Answer :-

« Hypothalamus/ BE'@[QW

86) A person weighs more in a lift which is?/ wm%mmﬁwﬁsﬁ‘wﬁm
gfe feree?

1. Moving down with a constant velocity/ A T I A W 8

2. Moving up with a constant velocity/ dH1 T FW TIE
3. Accelerating downward,/ 12 @RI Y 311 &1 §

4. Accelerating upward/ @RUT & T4 SR ST 6 &

Correct Answer :-

» Accelerating upward/ TR P TTY SR o Ta! &

87) We lose consciousness if blood flow to the brain is cut off for more

than?/ §ARY G @A g1 STE afe; AT 1 fpa wwa ae Yo 7 frer <t
1.5 sec/ 5qHS

2. 15 to 20 min/ 15 20 fiFe

3.5 min/ 5 fiFe

4.0.2 sec/ 0.2 Ybs

Correct Answer :-

. 5sec/ 59FS

88) An apparatus used for locating submerged objects is known as?/@ﬁ'&

TSI & geq & RN P19 A Fa= 1 SUANT {1 o &:
1. Pulsar/ U&R

2. Quasar/ ®RIR

3. Sonar/ 9HR

4. Radar/ Y8R

Correct Answer :-

« Sonar/ IAR



89) A thermostat is a device for?/ YA T T HT HIdl 2
1. Switching off an electrical appliance/ fatgd IUHRUN H! ¢ HRT &
2. Regulating temperature/ qIHH o) afd HRarg

3. Producing heat/ mmﬁn‘mm%

4. Measuring temperature/ ATIHT 1 AT §

Correct Answer :-

« Regulating temperature/ dTgqH &1 fUd &1 §

90) The substance that causes the maximum air pollution is?/ fgdd«:Ha3

verd arg ugwur & i Jaffie Swrerdl gid 82
1. Smoke/ Yd

2. Carbon monoxide/ & AFIHIRITZS

3. Sulphur dioxide/ TehR SZ3IFRS

4. Nitrogen dioxide/ FT3cIo SR3RISS

Correct Answer :-

« Sulphur dioxide/ TeH SRIHRISS

91) How many triangles are there in the following figure?/ ﬁﬂswﬁﬁﬁmﬁ
Aysig?

1.16
2.13
3.7

4.9

Correct Answer :-

92) The smallest known prokaryotic organism is:/ a9 Biel MbRaifes s sia
arg?



1. Bacteria/SfidT]
2. Microcystis/ qﬁaﬁw
3. Chlorella/ TR

4. Mycoplasma/ ATSHITITSHT
Correct Answer :-

» Mycoplasma/ IS D ITSHT

93) The dry fruit chilgoza is obtained from?/ wqmwﬁwﬁmmmm
&

1. Cyprus/ HIgUd

2. Deodar/ TR

3. Cycas/ 9y

4. Pine/Uigd

Correct Answer :-

94) Organisms which have similar external appearance with reference to a

particular character are called?/ %aﬂaﬁﬁmﬁa&mﬁﬁwwmaﬁ%ﬁw
TSIl §

1. Phenocopies/ eIty
2. Phenotypes/ PEIEED]

3. Analogous/ Q?IFﬁTH

4. Homologous/ BHIANT

Correct Answer :-

« Phenotypes/ HIeigy

95) Light coloured clothes are preferred in summer because?/ b 3 & HUS
Wy g W udig fru o § Fnfe?

1. They allow body heat to escape faster/ I IRR Y S HI Aot J 6% AP &
2. They soak sweat faster/ d U &l Siee] IRd dd &

3. Light colours are good radiators of heat/ e T ST & 3 fafore g1d &

4. Light colours are poor absorbers of heat/ WQ“TE@T%@ 3INYH BId &



Correct Answer :-

« Light colours are poor absorbers of heat/ WWW%QA{ 3INYF BId &
96) The main use of mica is in? /Y% &1 YT U fHg ST A a1 g
1. The electrical industry/ ﬁgﬂﬂ?@ﬂ

2. The steel industry/ 3¥Td 39T

3. Petroleum refining/ UgIfeiay RNYYHRUN WHEH

4. The glass and pottery industry/ B g I ST

Correct Answer :-

« The electrical industry/ fagaa 3

97) Atmospheric pressure is measured with a?/ argHSHIY g1d & fore avg AUl
G

1. Hygrometer/ © IR
2. Barometer/ sRIHICR

3. Hydrometer/ @ églﬂlai
4. Altimeter/ Tec HICR

Correct Answer :-

« Barometer/ SRIHeR

98) A number when reduced by 10% gives 27 as result. The number is:/U® IEIT &d

10% TeTdt STt B, ot ufvomd 27 37ar B, 9 IS R e
1. 30
2.35
3. 40

4. 33

Correct Answer :-

016 0.04 0.16 0.0
99) The value of (243) x (243) is equal to:/"zzfjf33| x (243) &1 A fFras RTEw %:

Wil =



2.0.16
3.0.04

4.3

Correct Answer :-

=
100) The diagonal of a square is 4" 2 cm. The diagonal of another square whose area is double

that of the first square is:lmaﬁﬁﬁﬁﬂfﬂﬁﬁﬁ%l WWﬁWWWﬁ,WW
g i & &% BT &l [T 2|

1, 8v2 cm/aﬁ‘;2 It
2 y’ﬁ cm/ fﬁ@'ﬁﬁ
3.8 cm/ 8 9HI
4.16 cm/16 It

Correct Answer :-

. 8cm/8@1ﬁ



